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SUSE®& 150A X 4.000 7N 13 4000 x 13 = 52.000
SUSE®& 150A X 2.000 7N 13 2000 x 13 = 26.000
SUSE®E 150A X 1.000 X 9 1.000  x 9 = 9.000
SUSE®& 150A X 500 7N 4 0500 X 4 = 2000
SUSE®& 150A X 300 7N 8 0.300 X 8 = 2400
SUSTLF& 150A X 18 1600 x 18 = 28.800
SUSF—X 150A X 150A & 1 0523 X 1 = 0523
SUST/LAR 150A X 90° & 7 0550 X 7 = 3850
SUST/LAR 150A X 45° & 4 0.282 x 4 = 1.128
7.5K
SuUsI5v 150A & 2 0210 X 2 = 0420
EBHEEEEIT <2 150A & 1 0016 x 1 = 0016
JL—rIR 150A & 1 0500 X 1 = 0500
BEREE 150A & 3 0302 X 3 = 00906
INBTSA8)LT 150A H 3 0.387 X 3 = 1.161
8% R RF 75K L
THKTFEE(VE) ¢ 200 % ¢ 150 H 1 0.440 X 1 = 0440
8% E R RF 75K L
THKTFEE(VE) ¢ 150 X ¢ 150 H 1 0420 x 1 = 0420
7.5K
ISVTE ¢ 150 " 2 x 2 =
veoaf ok ¢ 150 & 1
150
TSV MFEM RF 7.5K #H 2
1%/ VLT BOX )—X #H 1
RELER 150A = 129.564
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REREMIRL(EKE) BEFHEE
ETE-OF SUSE150A FERiER :1=129.564m
AR Y <060 NO.
EHRA
I Z_# Zwr- A i #
& [#E#T)
INGF
REEERMAT 150A m 128.4 129564 -  1.16 = 128.403
MU MEF T 150A [m| 82 82 = 82
7.5K
TSUOMFT ¢ 150 a 4 2 + 2 = 4
R FFRET 150A T 3 3 = 3
REEHET 150A m 128.4
AN=HIVHFT ¢ 15045 K 1R iR m} 1
AN=HIVHFT ¢ 150 B 1R m} 1
TaMUMEFERSNLT 150A [m] 82
ISR FRSALT 150A [m| 2 2 = 2
ANZHIVBFRNALT | ¢ 15055 5% R o 1
AN=HIBFRSALT | ¢ 150 @BiFR o 1
RELUHEET 150A & 3
HEER
THIKERT $200x $150  EEFT 1
HER
THIKERT $150x $150 | AT 1
EKEHERT R B m 129.6 129.564 = 129.564
[£T]
(REEE MR
Coffizx
TTA- ¢ 150 H=0.10m m 9.8 480 + 500 = 9.80
Coffizk
TTA-2 ¢ 150 H=0.30m m 9.7 230 + 740 = 970
TiEAs
T+ TG BRI BB [E0zi 1
TiEAs
+I®-2 BRI I BB [E0zi 1
((B4=5 FJi))
Coffizk
TTA-4 ¢ 150 H=0.10m m 9.8 480 + 500 = 9.80
Coffizx
TTA-5 ¢ 150 H=0.30m m 13.1 230 + 200 + 740 + 1.40 = 13.10
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[REEEMRL (KB BEFTEE
ETE-OF SUSE150A FERiER :1=277.469m
HREH %Y EH~070m NO, 1
EH R
Tz £ _# V2R Hly % & B =
H# SUSE % 150A x 4.000 PN 37 4.000 37 = 148.000
SUSE®& 150A X 2.000 7N 20 2.000 20 = 40.000
SUSE®& 150A X 1.000 7N 16 1.000 16 = 16.000
SUSE®E 150A X 500 7N 18 0.500 18 = 9.000
SUSE®& 150A X 300 7N 14 0.300 14 = 4200
SUSTLF%& 150A X 30 1.600 30 = 48000
SUSF—X 150A X 80A & 1 0.378 1 = 0378
SUSF—X 150A X 50A & 1 0.378 1 = 0378
SUST/LAR 150A X 90° & 8 0.550 8 = 4400
SUST/LAR 150A X 45° & 6 0.282 6 = 1692
7.5K
SuUsI5v 150A {& 2 0.210 2 = 0420
SUSHRHLEE 150A X 25A {& 1 0.200 1 = 0.200
SUSHRHLEE 150A X 20A {& 11 0.200 1 = 2200
BHREEEITxZH) 150A & 1 0.016 1 = 0016
BEREE 150A & 2 0.302 2 = 0604
INGDSAINLTD 150A H 3 0.387 3 = 1.161
HEER 75K
THKESEF ¢ 150 #® 1
8% R RF 75K L
TEKTFE(VED) ¢ 150 x ¢ 150 = 1 0.420 1 = 0420
HPPEE F RF 7.5K L
TEKTFEE(VED) ¢ 150 x ¢ 150 = 1 0.400 1 = 0.400
7.5K
IS5V E ¢ 150 w 2 2 =
FOXFE
TURA%S " 1
L+ TFEREE H=150
ALY VR YIA & 1
JEER (M) H=40
ALY VR YIA & 1
150
TSV MFEM RF 7.5K #H 2
1%/ VLT BOX )—X #H 1
RELER 150A 277.469
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[REEEMRL (KB BEFTEE
ETE-OF SUSE150A FERiER :1=277.469m
HEREE THU EE~070m NO. 1
EH R
I £ Bk T E Hly % & B =
FE [ERT]
ACE nHEE
RERERMAT 150A m 273.9 277469 — 116 — 2.400 = 273.908
CIaAUMEFT 150A [m] 167 167 = 167
REREFET 150A X 25A m] 1
REREFET 150A X 20A a 11
7.5K
ISUUHMFT ¢ 150 m] 4 2+ 2 = 4
R FZRET 150A &R 3 3 = 3
REEHET 150A m 2739
TaMUMEFERSNLT 150A [m] 167
7.5K
TSUCHMFRNLT ¢ 150 [m] 2 2 = 2
REREFET 150A X 25A m] 1
REREFET 150A X 20A a 11
RELUHEET 150A & 3
HEER
THIKE LT ARG T ¢ 150 [E0z 1
HER
THKERT $150% p150  EEFT 1
HPPE& Fl
THKERT $150% $150  EEFT 1
FOXFE
TUFRASSREMAT &ERT 1
tU#A L+ TFEREE H=150
LY Uik AR T {& 1
TR JEEB (M) H=40
LY Uik AR T {& 1
EKEHERT R B m 2775  277.469 = 277.469
[£1]
(REEE MR
CoffiZk 3.50 + 3.10 + 5.20 + 0.50 2.50
+TA-1 ¢ 150 H=0.10m m 17.9 3.10 = 17.90
HiEAs
+IB-1 ¢ 150 H=0.30m m 41 4.10 = 410
HiEAs
+I®-2 THiK IS &R 1
HiEAs
TI®-1 TEIK ISR | &FT 1
HiEAs
+IT@ BREUFERER & 1
((B4=5 FJi))
CoffiZk 3.50 + 3.10 + 5.20 + 0.50 2.50
+IA-4 ¢ 150 H=0.10m m 17.9 3.10 = 17.90
HiEAs
+IB-4 ¢ 150 H=0.30m m 41 4.10 = 410
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(REREMRT (EKE)

MEEHEE

EHE-Of%:SUSEBOA TERIER :1=126.603m SUSES0A MERIER:1=4.051m
e EE THY EE~0.80m NO, 1
B IR
I £ BT =04 z w *
HH SUSE® 80A X 4.000 x 16 4.000 16 64.000
SUSEE 80A X 2.000 7N 13 2.000 13 26.000
SUSEE 80A X 1.000 7N 10 1.000 10 10.000
SUSEE 80A x 500 & 10 0.500 10 5.000
SUSEE 80A % 300 7N 2 0.300 2 0.600
SUSTLX& 80A PN 14 1.000 14 14.000
(I~F:%)
SUSF—X 150A X 80A & (1) 0.126 1 0.126
SUSF—X 80A X 80A & 1 0.226 1 0.226
SUSTJLAR 80A X 90° & 2 0.282 2 0.564
SUSTJLAR 80A X 45° & 1 0.148 1 0.148
JL—rIUR 80A & 1 0.300 1 0.300
SUSHXHILREE 80A X 20A & 7 0.150 7 1.050
R—iLsLJ 80A = 2 0.269 2 0.538
RERE AR 65A = 1
VSPaA A% ®75% ¢ 50 & 1
SUSEE 50A x 1.000 N 1 1.000 1 1.000
SUSEE 50A X 500 N 1 0.500 1 0.500
SUSEE 50A % 300 7N 1 0.300 1 0.300
SUSTL*& 50A N 1 1.000 1 1.000
(I~F:%)
SUSF—X 150A X 50A & (1) 0.126 1 0.126
SUSTJLAR 50A X 90° & 3 0.205 3 0.615
JL—rIUR 50A & 1 0.300 1 0.300
R—iLsLJ 50A = 1 0.210 1 0.210
vsoaA Tk ¢ 50 & 1
{RE&/\LTBOX J—X #H 1
80A 122,552
REER 50A 4.051
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IRFEEMRT (EoKE)
SUSES0A MERIER:1=4.051m

MEEHEE

HEREHE %Y EH~080m NO. 1
E R
TiE £ BRI BT % £ 1w _Z
FE [E#T]
NIV MHEE

RERERMAT 80A m 121.0 122552 - 0538 - 1.050 120.964
DaMUMEFT 80A A 77 77 77
ANZHIVBFET ¢ 75 m] 1 1 1
RHEEERET 80A A 7 7
REREUIFHRET 80A &1z 2 2 2
REHNIERRET 65A &1z 1 1 1

REEWET 80A m 121.0

DAV MEFERNLT 80A A 77
AA=HIIBEFESNLT ¢ 75 A 1

RERERST 80A A 7
REELUFHEET 80A & 2
REEH KIEET 65A E170 1

Vaviw)

RERERMAT 50A m 38 4051 - 0210 3.841
DaMUMEFT 50A A 8 8 8
AN HIVBFET @50 m] 3 3 3
RERIEUIFHRET 50A & 1 1 1

REEWET 50A m 38

CaMUMEFISMLT 50A m] 8
AN=HIIBEFESNLT ¢ 50 A 3
REEEUFHEET 50A & 1
BKERERT BIER EERR m 126.6 122552 + 4.051 126.603
[+1]
(REE B ek R
Hi#EAs
+TIB-2 ¢ 50 H=0.30m m 30 3.00 3.00
Hi#EAs
+1B-3 ®50 H=0.80m m 1.1 1.10 1.10
UREE B AR
Hi#EAs
+TIB-5 ¢ 50 H=0.30m m 30 3.00 3.00
Hi#EAs
+TB-6 ®50 H=0.80m m 1.1 1.10 1.10
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[RERHEKEMRT HEFES

EFE - 0% PE ¢ 20mm x 18&FF PE ¢ 25mm X 167}

e El Bl NO, 1
EHRA
T - FBHKTE iy % & B %
% 4B T]
MIH
RERHAKEERT G150 X PE® 25 | HFT 1
MIH
RERHAKEERT G150 X PE® 20 | HFT 10
MIH
RERHAKEERT GI5XPE20  EEHAT 7
REEHET b 25 m 1.0
REEHET ¢ 20 m 76.0
FYIFLVE#RFINLT ¢ 25 [m] 2
FYIFLVE#RFINLT ¢ 20 o 34
[£T]
(R ER#A 7K E 5% B)
Coffizx
+TIA-3 ¢ 25L0F H=0.10m = m 9.0
RERHKERER)
Coffizx
T TA-6 ¢ 25L0F H=0.10m = m 9.0
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No. 2 A-1 A-2 A-3 A-4 A-5 A-6 B-1 B-2
RREK E iR =EE L SEE L SEE L SEE L SEE L SEE L SEE L SEE L
271.17 R L 9.7 R L 9.0 R L 271.17 R L 13.1 R L 9.0 R L 4.1 R L 3.0 R L
%% B & et R BE
AR )
SHEYMET  |[t=15mF m 2.00 8.20 | 2.00 6.00 14.20
ASTREIR )
SERBERT |[t=10cmU T m2 0.40 11.08 | 0.40 524 | 0.30 2.70 | 0.60 2.46 | 0.60 1.80 23.28
ComZEIR )
SHEYMGT  |[t=15miF m| 2,00,  55.40 | 2.00 19.40 | 2.00 18. 00 92. 80
Com IR )
SEEMRT |[t=15m T m2|  0.40 11.08 | 0.40 3.88 | 0.30 2.70 17.66
BHO. 13m3 )
WHEET et m3|  0.07 1.94 | 0.15 1.46 | 0.0 0.09 | 0.07 1.94 | 0.15 1.97 | 0.03 0.27 | 0.25 1.03 | 0.19 0.57 9.27
BHO. 13m3 )
WHIBET  |EAB m3|  0.07 1.94 | 0.15 1.46 | 0.03 0.27 3.67
BHO. 13m3 )
BWHIBEET  [SEadt m3 0.01 0.28 | 0.09 1.18 0.18 0.74 | 0.14 0.42 2.62
(RC-30) )
FEBBT  |t=10cm m2 0.40 11.08 | 0.40 524 | 0.30 2.70 | 0.60 2.46 | 0.60 1.80 23.28
(RM-30) )
LTERET t=12cm m2
18-8-40BB, A h )
225 y— k&g |t=15cm m2 0.40 11.08 | 0.40 524 | 0.30 2.70 19.02
BAEZH As13mm )
BEREE  |t=3cm m2|  0.40 11.08 | 0.40 3.88 | 0.30 2.70 0. 60 2.46 | 0.60 1.80 21.92
BILHT )
(£8) 2tDT m3|  0.07 1.94 | 0.15 1.46 | 0.01 0.09 | 0.06 1.66 | 0.05 0.66 | 0.03 0.27 | 0.05 0.21 0.03 0.09 6.38
BIUAT )
(AS) 2tDT m3 0.01 0.28 | 0.01 0.13 | o0.01 0.09 | 0.03 0.12 | 0.03 0.09 0.71
FAR )
AS3E t 0.02 0.55 | 0.02 0.26 | 0.0 0.18 | 0.07 0.29 | 0.07 0.21 1.49
BIWAT )
(co) 2tDT m3|  0.04 1.11 0.04 0.39 | 0.03 0.27 1.77
ZAE )
co# t|  0.09 2.49 | 0.09 0.87 | 0.07 0.63 3.99




No. 2 _ _ B-3 B-4 B-5 B-6 5)-1 5)-2 ®-1 @-1
RREK E iR =EE L SEE L SEE L SEE L
71 =& L 71 @k L 30 —@mEL 71 =& L i B 7 i T i T i
%% B & et =E R BE
AR )
SHEYMET  |[t=15mF m|  2.00 2.20 | 2.00 8.20 | 2.00 6.00 | 2.00 2.20 5. 40 5. 40 24,00 38.20 38
ASTREIR )
SERBERT |[t=10cmU T m2|  0.60 0.66 | 0.60 2.46 | 0.60 1.80 | 0.60 0. 66 1.70 1.70 7.28 30. 56 31
CoZmZt iR
SHEYMGT  |[t=15miF m 7. 40 7.40 | 5.20 10. 40 5.00 5. 00 22.80 | 115.60 120
CoZmZE iR
SBERBERT |t=15mU T m2 3.00 3.00 1.60 3.20 1.56 1.56 7.76 25. 42 25
BHO. 13m3
WHEET et m3|  0.49 0.54 | 0.24 0.98 | 0.20 0.60 | 0.50 0.55 | 2.16 2.16 1.55 3.10 1.90 1.90 1.36 1.36 11.19 20. 46 20
BHO. 13m3
BWHIEET  |EED m3 2.11 2.11 1.05 2.10 1.12 1.12 | 0.86 0. 86 6.19 9.86 10
BHO. 13m3
BWHIBEET  [SEadt m3| 0.4 0.48 | 0.13 0.53 | 0.07 0.21 0.37 0.41 0.21 0.21 0.59 1.18 | 0.43 0.43 | 0.23 0.23 3.68 6.30 10
(RC-30)
FEBET  |t=10cm m2|  0.60 0.66 | 0.60 2.46 | 0.60 1.80 | 0.60 0. 66 1.70 1.70 1.56 1.56 8.84 32.12 32
(RM-30)
FEBET  |t=12cm m2 0. 60 2.46 | 0.60 1.80 | 0.60 0. 66 1.70 1.70 6. 62 6. 62 7
18-8-40BB, A h
225 y— hais|t=15cm m2 1.56 1.56 1.56 20. 58 21
BAEZH As13mm
BEREIE  |t=3cm m2|  0.60 0.66 | 0.60 2.46 | 0.60 1.80 | 0.60 0.66 | 3.00 3.00 1.60 3.20 1.70 1.70 13.48 35. 40 35
BILHT
(£8) 2tDT m3 0.10 0.41 0.12 0.36 | 0.09 0.10 1.93 1.93 | 0.89 1.78 1.42 1.42 1.10 1.10 7.10 13.48 10
BIUAT
(AS) 2tDT m3|  0.03 0.03 | 0.0 0.08 | 0.0 0.06 | 0.0 0.02 0.09 0.09 0.28 0.99 1
FAR
AS3E t|  0.07 0.08 | 0.05 0.21 0.05 0.15 | 0.05 0.06 0.21 0.21 0.71 2.20 2.2
BIWAT
(co) 2tDT m3 0.30 0.30 | 0.16 0.32 0.16 0.16 0.78 2.55 3
ZAE
co# t 0.71 0.71 0.38 0.76 0.38 0.38 1.85 5,84 58




W= = SUS 150A L= 9.8 + 17.9 = 27.70 m

Brigis # = 4 1TA-1

B = 0170 X 0170 X x / = 0.023
BEERE = X X gz  / = 0.000
Im259
#% 7 B A | # & g =
EECI T
CoBpHE t=15cmbl 1.00 X 2 = m 2.00
IR T
CoBpHE t=10cmbl 1.00 X 0.40 = m2 0.40
BT
BB A B A .00 X 0.40 X 0.17 = m3 0.07
T
SN D AR 1.00 X 0.40 X 0.24 — 0.023 = m3 0.07
YRR AR 1A (2E % RiAs 3, A7)
t=3cm 1.00 X 0.40 = m2 0.40
FET Ay 1 PEI . dH L
FEAS | 0.07 —( =~ 0.90 )= m3 0.07
FET Ay 1
FrAA 20— 1.00 X 0.40 X 0.10 = m3 0.04
TAL

7Yl 0.04 X 235 = ¢ 0.09




B 5 = SUS 1504 L= 9.7 = 970 m

BrigiE B = +TA2

B = 0170 X 0170 X x / = 0.023
BEERE = X X gz  / = 0.000
Im259
#% 7 B A | # & g =
EECI T
CoBpHE t=15cmbl 1.00 X 2 = m 2.00
IR T
CoBpHE t=10cmbl 1.00 X 0.40 = m2 0.40
BT
BB A B A 1.00 X 0.40 X 0.37 = m3 0.15
T
SN D AR 1.00 X 0.40 X 0.44 — 0.023 = m3 0.15
YRR AR 1A (2E % RiAs 3, A7)
t=3cm 1.00 X 0.40 = m2 0.40
FET Ay 1 PEI . dH L
FEAS | 0.15 —( =~ 0.90 )= m3 0.15
FET Ay 1
FrAA 20— 1.00 X 0.40 X 0.10 = m3 0.04
TAL

7Yl 0.04 X 235 = ¢ 0.09




B 5 = PP _gospr L= 9.0 = 900 m

BrigiE B = 4+ TA-3

B = 0030 X 0030 X x / = 0.00]
BEERE = X X gz  / = 0.000
Im259
#% 7 B A | # & g =
EECI T
CoBpHE t=15cmbl 1.00 X 2 = m 2.00
IR T
CoBpHE t=10cmbl 1.00 X 0.30 = m2 0.30
BT
BB A B A 1.00 X 0.30 X 0.03 = m3 0.01
T
SN D AR .00 X 0.30 X 0.10 — 0.001 = m3 0.03
YRR AR 1A (2E % RiAs 3, A7)
t=3cm 1.00 X 0.30 = m2 0.30
FET Ay 1 PEI . dH L
FEAS | 0.01 —( =~ 0.90 )= m3 0.01
FET Ay 1
FrAA 20— 1.00 X 0.30 X 0.10 = m3 0.03
TAL

7Yl 0.03 X 2.35 = ¢ 0.07




W= = SUS 150A L= 4.1 = 410 m
N i I M |
EREEE = 0170 X 0170 X x / = 0.023
BEERE = X X gz  / = 0.000
Im259

% 7 H# = | # & i =
EECI T
AsEFEERR t=15cmbl 1.00 X 2 = m 2.00
e
AsEFEERR t=10cmbl 1.00 X 0.60 = m2 0.60
BT
b T A - FET - 1.00 X 0.60 X 0.42 = m3 0.25
BT
S NFEERD T 1.00 X 0.60 X 0.34 — 0.023 = m3 0.18
T T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
4 1 5018 1H (P2 PRI As 13mm, A7)
t=3cm 1.00 X 0.60 = m2 0.60
FEL T mE+ WAL
FEAS | 0.25 —( 0.18 = 0.90 )= m3 0.05
FEL T
FERE TATrA b 1.000 X 0.60 X 0.05 = m3 0.03
TAE
TR 7N 0.03 X 235 = ¢ 0.07




BrigiE s = SUS 504 L= 3.0 = 300 m
Bk = 1182
B = 0060 X 0060 X x J = 0.003
BEERE = X X gz  / = 0.000
Im259

A 7 B A | # & i =
EECI T
AsEBEEIR t=15cmI T 1.00 X 2 = m 2.00
e
AsEBEEIR t=10cmbl T 1.00 X 0.60 = m2 0.60
BT
BB A B A 1.00 X 0.60 X 0.31 = m3 0.19
T
SN A 1.00 X 0.60 X 0.23 — 0.003 = m3 0.14
FEBAET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
e | (P B R AS 13mm, A )
t=3cm 1.00 X 0.60 = m2 0.60
FET Ay 1 PHEI . SH L
FAL A4 0.19 —( 0.14 = 0.90 )= m3 0.03
FET Ay 1
FrAZ TAT b 1.00 X 0.60 X 0.05 = m3 0.03
TAL
TR 7N 0.03 X 235 = ¢ 0.07




W= = SUS 504 L= 1.1 = 110 m
PriE# k= 1183
EREEE = 0060 X 0060 X x / = 0.003
BEERE = X X gz  / = 0.000
Im259

A 7 H# = | # & i =
EECI T
AsEFEERR t=15cmbl 1.00 X 2 = m 2.00
e
AsEFEERR t=10cmbl 1.00 X 0.60 = m2 0.60
BT
b T A - FET - 1.00 X 0.60 X 0.81 = m3 0.49
BT
S NFEERD T 1.00 X 0.60 X 0.73 — 0.003 = m3 0.44
FEBAET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
4 1 5018 1H (P2 PRI As 13mm, A7)
t=3cm 1.00 X 0.60 = m2 0.60
FEL T mE+ WAL
FEAS | 0.49 —( 0.44 + 0.90 )= m3 0.00
FEL T
FrAZ TAT b 1.000 X 0.60 X 0.05 = m3 0.03
TAL
TR 7N 0.03 X 235 = ¢ 0.07




W= = SUS 150A L= 9.8 + 17.9 = 27.70 m
Wb = 1A
EREEE = 0170 X 0170 X x / = 0.023
BEERE = X X gz  / = 0.000
Im259

% 7 H# = | # & i =
e
AsEFEERR t=10cmbl 1.00 X 0.40 = m2 0.40
BT
b T A - PEFT - 1.00 X 0.40 X 0.24 — 0.023 = m3 0.07
BT
S NFEERD T 1.00 X 0.40 X 0.02 = m3 0.01
T T (RC-30)
t=10cm 1.00 X 0.40 = m2 0.40
o) — e (18-8-40BB, A7)
t=15¢cm 1.00 X 0.40 = m2 0.40
FEL T e+ WAL
FEAS | 0.07 —( 0.0l + 090 )= m3 0.06
FEL T
FERE TATrA b 1.00 X 0.40 X 0.03 = m3 0.01
ZAE
TR 7N 0.0l X 2.35 = ¢ 0.02




Wiz 5 SUS 1504 L= 13.1 = 1310 m
T i Y 7]
EREEE = 0170 X 0170 X x / = 0.023
BEERE = X X gz  / = 0.000
Im259

% 7 H# = | # & i =
e
AsEFEERR t=10cmbl 1.00 X 0.40 = m2 0.40
AT
b T A - PEFT - 1.000 X 0.40 X 0.44 — 0.023 = m3 0.15
BT
S NFEERD T 1.00 X 0.40 X 0.22 = m3 0.09
T T (RC-30)
t=10cm 1.00 X 0.40 = m2 0.40
o) — e (18-8-40BB, A7)
t=15¢cm 1.00 X 0.40 = m2 0.40
FEL T e+ WAL
FEAS | 0.15 —( 0.09 =+ 0.90 )= m3 0.05
FEL T
FERE TATrA b 1.000 X 0.40 X 0.03 = m3 0.01
ZAE
TR 7N 0.01 X 235 = ¢ 0.02




BrigiE s = PP your L= 9.0 = 900 m
T i o )
EREEE = 0170 X 0170 X x / = 0.023
BEERE = X X gz  / = 0.000
Im259
A 7 B A | # & i =
e
AsEFEERR t=10cmbl 1.00 X 0.30 = m2 0.30
BT
b T A - PEFT - 1.00 X 0.30 X 0.17 — 0.023 = m3 0.03
FEBAET (RC-30)
t=10cm 1.00 X 0.30 = m2 0.30
oY) — M (18-8-40BB, A7)
t=15¢m 1.00 X 0.30 = m2 0.30
FET Ay 1 I+ dH L
FEAS | 0.03 —( = 0.90 )= m3 0.03
FET Ay 1
FrAZ TAT b 1.000 X 0.30 X 0.03 = m3 0.01
TAL
Ve 0.0l X 235 = ¢ 0.02




W= = SUS 150A L= 4.1 = 410 m
N i I N
EREEE = 0170 X 0170 X x / = 0.023
BEERE = X X gz  / = 0.000
Im259

% 7 H# = | # & i =
EECI T
AsEFEERR t=15cmbl 1.00 X 2 = m 2.00
e
AsEFEERR t=10cmbl 1.00 X 0.60 = m2 0.60
BT
b T A - FET - 1.000 X 0.60 X 044 — 0.023 = m3 0.24
BT
S NFEERD T 1.00 X 0.60 X 0.22 = m3 0.13
T T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
ST (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
5 (H (B REAs 1 3mm, A7)
t=3cm 1.00 X 0.60 = m2 0.60
FEL T mEl+ WAL
FEAS | 0.24 —( 0.13 + 0.90 )= m3 0.10
FEL T
FERE TATrA b 1.00 X 0.60 X 0.03 = m3 0.02
TAE
TR 7N 0.02 X 235 = ¢ 0.05




BrigiE s = SUS 504 L= 3.0 = 300 m
Wit = 4 1B-5
EREEE = 0060 X 0060 X x / = 0.003
BEERE = X X gz  / = 0.000
Im259

A 7 B A | # & i =
EECI T
AsEFEERR t=15cmbl 1.00 X 2 = m 2.00
e
AsEFEERR t=10cmbl 1.00 X 0.60 = m2 0.60
BT
BB A B A 1.00 X 0.60 X 0.33 — 0.003 = m3 0.20
T
SN A 1.00 X 0.60 X 0.11 = m3 0.07
T T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
ST (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
YRR AR 1A (F2E % RIAs 3, A7)
t=3cm 1.00 X 0.60 = m2 0.60
FET Ay 1 PEI . dH L
FEAS | 0.20 —( 0.07 + 0.90 )= m3 0.12
FET Ay 1
FrAZ TAT b 1.00 X 0.60 X 0.03 = m3 0.02
TAL
TR 7N 0.02 X 2.35 = ¢ 0.05




W= = SUS 504 L= 1.1 = 110 m
Bk = 1156
EREEE = 0060 X 0060 X x / = 0.003
BEERE = X X gz  / = 0.000
Im259

% 7 H# = | # & i =
EECI T
AsEFEERR t=15cmbl 1.00 X 2 = m 2.00
e
AsEFEERR t=10cmbl 1.00 X 0.60 = m2 0.60
BT
b T A - FET - 1.00 X 0.60 X 0.83 — 0.003 = m3 0.50
BT
S NFEERD T 1.00 X 0.60 X 0.61 = m3 0.37
T T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
ST (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
5 (H (B REAs 1 3mm, A7)
t=3cm 1.00 X 0.60 = m2 0.60
FEL T mEl+ WAL
FEAS | 0.50 —( 0.37 + 0.90 )= m3 0.09
FEL T
FERE TATrA b 1.00 X 0.60 X 0.03 = m3 0.02
TAE
TR 7N 0.02 X 2.35 = ¢ 0.05




a5 = Bk @ 200 1271 L = 250 m
Brigis # = 161
R = 0220 X 0220 X o / = 0.038
EHE = X X / = 0.000
1B

% B i & = o & i
BRI T
CoBH#E t=15emL T 1.20 X 2 + 250 X 2 m 7.40
LSRR 1
CoH2ER t=10cmid 1.20 X 250 = m2 3.00
3/ BN
A B - 1.20 X 250 X 0.72 = m3 2.16
PR
L NFEED A 1.20 X 250 X 0.72 — 0.038 X 1.20 m3 2.11
PRI
LN FEAE A 1.20 X 2.50 X 0.07 = m3 0.21
B R 10 (PRI As13mm, A J7)
t=3cm 1.20 X 2,50 = m2 3.00
T e+ WAL
FBUAL | 2.16 —( 0.21 = 0.90 )= m3 1.93
T
FERS 2 0)—pi 1.20 X 2,50 X 0.10 = m3 0.30
RAE
3 0.30 X 235 = ¢ 0.71




P& = Tk 150  1Er L = 160 m
Brigis B = £ I1G-2
gEREEE = 0170 X 0170 X x / = 0.023
EHE = X X / = 0.000
1597450

% B i & = o & i
BRI T
CofidEl t=15cmbl 1.00 X 2 + 1.60 X 2 m 5.20
LSRR 1
CodlEm t=10cmil 1.00 X 1.60 = m2 1.60
3/ BN
B BEET - 1.00 X 1.60 X 0.97 = m3 1.55
HIE T
LK AR 1.00 X 1.60 X 0.67 — 0.023 X 1.00 m3 1.05
HIE T
L NFEEYD FEAEA- 1.00 X 1.60 X 0.37 = m3 0.59
B R 10 (PRI As13mm, A J7)
t=3cm 1.00 X 1.60 = m2 1.60
FEL ST EE = WAt
FBUAL | 1.55 —( 0.59 = 0.90 )= m3 0.89
FEL ST
FEAS 20— P 1.00 X 1.60 X 0.10 = m3 0.16
RAE
a3 0.16 X 2.35 = ¢ 0.38




a5 = Bk @ 150 1271 L = 170 m
BrEE = 1 L6-1
gEREEE = 0170 X 0170 X x / = 0.023
B g = X X 7z / = 0.000
1597450

% B i & = o & i
BRI T
AsBHEER t=15cmll 1.00 X 2 + 1.70 X 2 m 5.40
BHRERRAR AR T
AsEFHEIK t=10cmEL T 1.00 X 1.70 = m2 1.70
AT
Wb A FEE £ 1.00 X 1.70 X 1.12 m3 1.90
PR
L NFEED AR 1.00 X 1.70 X 0.67 — 0.023 1.00 m3 1.12
PR
L NFEED FEE A 1.00 X 1.70 X 0.25 m3 0.43
T T (RC-30)
t=10cm 1.00 X 1.70 = m2 1.70
/BT (RM-30)
t=12cm 1.00 X 1.70 = m2 1.70
B R 10 (FF AR As13mm, A J7)
(=3cm 1.00 X 1.70 = m2 1.70
T T e+ WAL
FEAA 1+ 1.90 —( 0.43 + 0.90 )= m3 1.42
T T
FEARB TAT7 MR 1.00 X 1.70 X 0.05 = m3 0.09
RAE
TAT7 e 0.09 X 235 = ¢ 0.21




a5 = Bk @ 150 1271 L = 130 m
Brigis # = 101
gEREEE = 0170 X 0170 X x / = 0.023
EHE = X X / = 0.000
1B

% B i & = o & i
BRI T
CoBH#E t=15emL T 1.20 X 2 + 1.30 X 2 m 5.00
LSRR 1
CoH2ER t=10cmid 1.20 X 1.30 = m2 1.56
3/ BN
B BEET - 1.20 X 1.30 X 0.87 m3 1.36
PR
L NFEED AR 1.20 X 1.30 X 0.57 — 0.023 1.20 m3 0.86
PRI
KNG D T A 1.20 X 1.30 X 0.15 m3 0.23
TS T (RC-30)
t=10cm 1.20 X 1.30 = m2 1.56
27 — M4 (18-8-40BB. A7)
t=15cm 1.20 X 1.30 = m2 1.56
T e+ WAL
AL | 1.36 —( 0.23 + 0.90 )= m3 1.10
T T
FERS 20—} 1.20 X 1.30 X 0.10 = m3 0.16
RAE
L)} 0.16 X 2.35 = ¢ 0.38




2.GXFE ¢ 150mm * ¢ 200mm PFoAKAE - EAE  EFE



DIP-GX XKERT HESTES

EfE-Of%: DIP-GX ¢ 200mm FiiXiE K :L=98.880m
e £8Y:0.15~0.60m NO. 1
B 1R
T -] BRKTZE Bl % 8 F =
KEHH
GXZEE St
BOA L EEHE ¢ 200 % 5,000 Z: 13 13 x 5000 = 65.000
GXEE St
BOA L EEHE ¢ 200 % 5,000 Z: 6 DEHMHERLY = 25521 YIEMA
L
GX —2TFE ¢ 200 % ¢ 150 & 1 0560 x 1 = 0.560
L
GXI; ZiELAZRE 200 % ¢ 150 & 1 0420 x 1 = 0420
L
GXF BhE ¢ 200 x 45° LE] 4 0530 x 4 = 2120
L
GXH HE $200%22 1/2° & 1 0450 x 1 = 0450
L
GXF HE $200% 11 1/4° & 6 0410 x 6 = 2460
L
GXF BhE $200x55/8° & 1 0410 x 1 = 0410
L
GXTz mZHE $200x221/2° & 3 0.160 x 3 = 0480
L
GXTiZ #EtH ¢ 200 & 3 0250 x 3 = 0.750
L
GXT; MiZEE ¢ 200 1& 1 0.020 X 1 = 0.020
7.5K L
GXTz mZY7b -l f ¢ 200 H 1 0.260 X 1 = 0260
L
GXFS14+ @200 & 11 0039 x 11 = 0429
EREZO  G-link
GX EREREEMH ¢ 200 #H 13 30 - 17
GX# G-Link ¢ 200 #H 17 17
*rORFE
YIS RAs%E " 1
L+ TEBEE H=150
HUIFRAVY VR YIR 1& 1
JEER (FARZ) H=40
HUIFRAVY VR YIR 1& 1
BREER GX ¢ 200 = 98.880
¢ 200 HFRER T
ERTRT-7 W=50 m 98.6 98.880 - 0.260 = 98.620
TEHER T
IBERAE - W=150 2f&% m 98.5 98720 -  0.260 = 98.460
FYIFLYRY-T ¢ 2005 m 1305 ( 98880 - x{60x( 14+ 01) = 51} = 130520
HET—7 m 102.8 98.880 X 1040 <+ 100 = 102.800

-1/2 -




DIP-GX XKERT HESTES

e £8Y:0.15~0.60m NO. 1
B 1R
TiZ £ BT E Ly £ 1% =
FE [ERT]
H#
ORI EHHERST ¢ 200 m 98.6/ 98880 - 0.260 = 98.620
EEZOLH
GX#F T ¢ 200 A 19 13+ 6 = 19
&= O EREEEMH
GX#F T ¢ 200 A 13 13 = 13
B EG-LinkEp G-Link
GX#F T ¢ 200 A 17 17 = 17
oS UIEME R BEER
FHERE T T ¢ 200 O 15 14+ 1 = 15
TUHEET ¢ 200 = 1 1 = 1
FOKFE
HTUFRSEREAT BT 1
TtUHHA L+ TEBEE H=150
LY URyIATRT T & 1
TtUHHA JEER (FRZ) H=40
LY URyIATRT T & 1
ERRT-7T ¢ 200 m 98.6
FERY - T W=150 2f&% m 98.5
BKEHERT BEER B s m 98.9 98.880 = 98.880
FYIFLVRY)-THEBL @200 m 98.9 98.880 = 98.880
[£T]
Coffi%E 25 FBBER
+IT® $200- ¢ 150 H=0.60m m 275 215 = 2750  mmEmEEsHE
Coffist
+IT2-1 $200 H=0.50m m 47 4.7 = 470 mmeRsms
Coffi%E SERBHEER
TITA $500- ¢ 200+ ¢ 150 H=0.15m | M 67.8 67.8 = 6780 EREREEE
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DIP-GX BckERRT #HEFHES

NO., 1
EHIRA
T £ BT ZE =04 z B _Z
FEHH
GXFEE SiE
B4V E%E ¢ 150 X 5,000 PN X 4000
GXFEE SiE
BRI EEHE ¢ 150 x 5,000 N 1 DEMERLY 3310 YIER
L
GXFt —ZTFEUTE) $200% ¢ 150 & (1) 0170 x 1 0.170
L
GXT BhE ¢ 150 % 45° & 3 0470 x 3 1.410
L
GXF fhEtH ¢ 150 & 2 0240 X 2 0.480
GF 7.5K L
GXF EE1S ¢ 150 & 1 0090 x 1 0.090
7.5K L
GXHtz mZYIN - F ¢ 150 P 1 0220 x 1 0.220
L
GXW54F ¢ 150 & 1 0.039 x 1 0.039
EmERZ0O  G-Link
GXF; EMEREEMH ¢ 150 £ 4 mo- 7
GXF4 G-Link ¢ 150 4 7 7
FORFE
Tt A%E ® 1
L+ TEREE H=150
HEOFALY VR IR & 1
&R (M) H=40
HEOFALY VR IR & 1
¢ 150-7.5K
2500 FRARH ATk #f 1 1
IFUTMFEERE R ¢ 150 #f 1 1
BEEER GX$150 5.719
¢ 150 BHER  {HOH
ERRT-T W=50 m 5.5 5719 - 0.220 5.499
TEEE  HAUH
EEAZAY - W=150 2% m 5.4 5579 - 0220 5.359
FYIFLVRY-T ¢ 150 m 76/ (5719 - x{60x( 14+ 01) + 51} 7.550
BHET—F m 48 5719 — 836 = 100 4.800
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DIP-GX BckERRT #HEFHES

&7E-O#%: DIP-GX¢150mm FsRiER :L=5.719m
R U 050~0.60m NO. 1
EHIRA
T/ =1 i /ﬁ’#v‘;‘f -%/.z z ﬁ'}* =
FH [#ET]
TeF
FY2 B ERSTT ¢ 150 m 55/ 5719 - 0220 5.499
EEZOM
GXFs#FE T ¢ 150 [m] 1 + 1 1
EREZOM BEREEEHH
GXTs#FE T ¢ 150 [m] 4 4 4
EREG-LinkER G-Link
GXFs#FE T ¢ 150 [m] 7 7 7
75K
ISUTHMFL ¢ 150 [m] 1 1 1
7.5K
ISUUMFRALL ¢ 150 =) 1 1 1
gD H EHRE B
HHEVINT ¢ 150 [m] 15 14+ 1 15
TOFHET ¢ 150 = 1 1 1
*rOKFE
OIS ABERAT 17 1
Tt HA L+ TEREE H=150
LY UR IR T & 1
tU#HA &R (M) H=40
LY UR IR T & 1
EHRT-7LT ¢ 150 m 55
SRV - T W=150 2f& m 5.4
BAKEHERT BE % BT m 5.7 5.719 5.719
FYIFLVAY-THEL ¢ 150 m 5.7 5.719 5.719
[+T]
Coff%
+IT@-3 ¢ 150 H=0.60m m 4.3 43 430 |mREREHE
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EMHE

= .91 - N .
4 o | TR 8 | o Mo | o T |l
Z O [EX:gl FRLOEL
Bk &
DIP-GX ¢ 200 3.500 1.000 0.500 2
L=5.00 m
2.231 2.122 0.647 2
0.741 3.272 0.987 2
2.432 2.261 0.307 2
2.000 1.040 1.010 0.950 3
2.001 0.820 1.091 1.088 3
O
6 A
RO o GE
& i 12.905 12.616 25.521 4.479 14




UEMHE
P £t
5 omo | TOHE ke s | ooz e o] e T |y
Z O [EXEEEY FHL O
Bl k&
DIP-GX ¢ 150 1.000 0.770 | 0.770 | 0.770 1.690 4
L=5.00 m
OIE HEAE
LA
HoE ouE U
& &k 1.000 2.310 3.310 1.690 4




3. HPPE ¢ 50mm~ ¢ 150mm BE/KE gk



HPPE BOKEHMRI HEFES

e £ :0.20~0.70m NO. 2
B 1R
T £ _# BRKTZE Hly % & F =
KEHH JKEEKER EFZOMES
FYIFLVE @ 150 % 5,000 Z: 30 30  x 5000 = 150.000
JKEEKE R TL-VINNEE
FYIFLVE ¢ 150 x 5,000 X 12 YIEHERELY = 53980 YIEHR
wIFLVER L
EFF—R’ ¢ 150% ¢ 75 & 1 0500 X 1 = 0500
wYIFLVER L
EFFlI AN @ 150 x 45° & 9 0460 x 9 = 4140
wIFLVER L
EFFlI AN $150%22 1/2° & 6 0380 x 6 = 2280
wIFLVER L
EFFlI AN $150%11 1/4° & 11 0340 x 11 = 3740
wYIFLVER L
EFAZA VN ¢ 150 x 45° & 14 0620 x 14 = 8680
wIFLVER
EFYfyb ¢ 150 & 8
GF 7.5K L
PEELOM ISV SHETEE $150%x p 75 & 2 0930 X 2 = 1.860
PCYafk @150 1& 2
PVCaqUbk 150 1& 1
wIFLVER L
PEFEL OfTY7b -8l 5 ¢ 150 H 2 1020 x 2 = 2040
7.5K
BEESRA ¢ 25 = 2
FCD&! Lin'—= RS EIMA GF 7.5K
F-NEHIETF @75 % 150H = 2
¢ 75-7.5K
2509 FRARH Ayb #H 2
¢ 75-7.5K
TSV FM SUSK' LMyt & | #H 2
WA
IS FImESE 675 #8 2
*rORFE
YIS RAs%E " 2
LT EREE H=150
HUIFRAVY VR YIR & 2
JEER (FARZ) H=40
HUIFRAVY VR YIR & 2
ERFERAHKE & 2
XA LERE H=200
LY Uik'ygR & 2
ELRFA TEREE H=200
LY Uik'ygR & 2
ELRFA JEER (FARZ) H=40
LY Uiky)R & 2
BREEE HPPE®150 = 227.220
¢ 150 EHRIER  HUR ZERH
ERTRT-7 W=50 m 223.3 227220 — 2040 - 1.860 = 223.320
BHEIZEER)—T ¢ 1508 m 299.9| ( 227220 - x{60x( 1+ 01) + 51} = 299930
THER T TR
IRERAR Y W=150 2f& 7AAY m 222.6 226500 — 2040 - 1.860 = 222.600
HET—7 m 190 227220 x 83.600 <+ 100 = 190.000
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HPPE BOKEHMRI HEFES

e £ :0.20~0.70m NO. 2
B 1R
T £ # BRKTE Hly % & F =
FHE [ET)
RhE HPPE T E
KUIFLBEA T ¢ 150 m 2252 227220 - 2040 = 225.180 {HUIFHEIR
BE L3
EFMtFT @150 m| 96 30 + 66 = 96
(2O#%F) Vb F—X
EF#¢FT ¢ 150 &R 9 8 + 1 = 9
TR
ISUCHET ¢ 75 m| 2 4 - 2 = 2
RYIFLVE PC PV
MZHhVEFET @150 m| 6 4+ 2 = 6
ERM
FVIFLVEYIRT ¢ 150 m} 31 31 = 31
TUHEET ¢ 150 = 2
ERAFRETL 25 = 2
FORHE
O ASEREMAT & 2
TtUHHA LT EREE H=150
LY URyIATRT T & 2
TtUHHA JEER (FARZ) H=40
LY URyIATRT T & 2
ERFAKERAT & 2
XA LERE H=200
LY URyIART T & 2
ELRFA TEREE H=200
LY URyIATRT T & 2
ELRFA JEER (FARZ) H=40
LY URyIATRT T & 2
ERRT-7T ¢ 150 m 2233
AEEEHER—IHET @150 m 22720 227.220 = 227.220
FERY - T W=150 2% 7IIAY m 222.6
BKEHERT BREREiE m 2272 227.220 = 227.220
[£T]
Coffist
+I1T@-2 ¢ 150 H=0.60m m 173 71+ 102 = 17.30 mmeRsps
hiEAsEHEE
T+IT®R-1 ¢ 150 H=0.70m m 2.0 2.0 = 200 @ EmEREsms
Coffi%E 25 RSB
t+I1B $500- ¢ 150 H=0.20m m 97.4 799 + 77+ 98 = 9740 mmEmEsHE
Coffi%E 25 RSB
tIcC $500- ¢ 150 H=0.60m m 13.9 52 + 87 = 13.90  mmemesHE
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HPPE EikEMRRI #HEBFIES

EE-O0%F: HPPE® 75mm FERIER :L=108.290m
R TR T0T0m NO. 2
B R
T £ BT ZE G % & w =
FEHH KEEKEH EFZOMEE
FYIFLVE ¢ 75 % 5,000 x 17 17 % 5000 = 85.000
JKEEKE R IV-VIVWNEE
FYIFLVE @ 75% 5,000 N 4 YEMHRLY = 18360 YIEMA
RYIFLVER L
EFF-R'(I5F3%) $150% 75 & (1) 0400 x 1 = 0400
®YIFLVER L
EFEZA VM b 75x45° & 1 0.380 x 1 = 0.380
RYIFLVER L
EFEZA VM $75%221/2° & 3 0280 x 3 = 0840
®YIFLVER L
EFEZA VM b75x111/4° & 4 0260 x 4 = 1.040
FYIFLVER SHARRER
EFYfyh ¢75 & 4 5 - 1
GF 7.5K L
PEEL OIS SHAETEE bI5%x ¢ 75 & 1 0710 x 1 = 0710| ZgdtE
(HPPE x PP)
PPUaA A% d75% ¢ 50 & 1
FYIFLVER L
PEFEL Afty7ty-n it 85 675 £ 2 0780 x 2 = 1560
BEO.75K
EREIEERRE R PT5-REHE | H 2 Aligst
FCD& Lin'—3{ RMSME MK GF 7.5K
F-NBRBIER ¢ 75 % 150H ® 2 BEtE
¢ 75-7.5K
ISV HMFEM GFfigh’ AryhSUS304-BN | F8 2 A&t E
¢ 75-7.5K
ISUTMFM SUSKE WMybDH | #8 2 Aligst
*rOKFE
Tt A%E 54 2
SREH H=100
HEOFALY VR IR & 2
L+ TEREE H=150
HEOFALY VR IR & 2
&R (M) H=40
HEOFALY VR IR & 2
BEER HPPEQTS = 108.290
675 ERER  HUH SHAAR
EHRT-7 W=50 m 106.0 108290 — 1.560 0.710 = 106.020
BEIBEHEX)—T ¢ 758 m 119.1] ( 108290 - x{50x( 1+ 01) = 119.120
FEER HUF SHAAR
IRERAZ Y- W=150 2f& 7LZAY | m 106.0 108290 — 1.560 0.710 = 106.020
BHET—F m 55.2 108.290 X 51.000 100 = 55.200
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HPPE EikEMRRI #HEBFIES

ETEEYT070m NO, 2
B R
T £ BT ZE H % & w =
FE [#ET]
RbE HPPE e
FYIFLVERMAT b5 m 106.7 108290 - 1.560 106.730 | L F#26%
EE £
EF#(F T ¢75 [m] 33 17+ 16 33
2O#F) Vyk
EF##F T 75 17 4 4 4
RYIFLYE
MZhVEF T b5 [m] 1 1 1
RYIFLYE
MZhVEF T ¢ 50 [m] 1 1 1
MERNMS
FYIFLVEYIMT ¢ 75 a 10 10 10
TOFHET ¢75 E: 2
IrOKFE
OIS ABERAT 17 2
tU#HA SHEEH H=100
LY UR IR T & 2
Tt HA L+ TEREE H=150
LY UR IR T & 2
tU#HA &R (M) H=40
LY UR IR T & 2
EHRT-7LT ¢75 m 106.0
BEIRENER—THET ¢75 m 108.3 108.290 108.290
EHRY-MT W=150 2f& 7LIAY | m 106.0
BAKEHERT BEEE BT m 108.3 108.290 108.290
[+T]
Coff%
+T2-4 ¢ 75 H=0.60m m 85.1 85.1 85.10 |BRmEREFME
REHLE
+IT@-1 ¢ 75 H=0.60m m 23.2 23.2 23.20 |EBRmEREME
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HPPE EikEMRRI #HEBFIES

BT 0:60~0.70m NO., 2
B R
T £ BT ZE G % & w =
FEHH JKEEKE R EFROMEE
FYIFLVE ¢ 50 x 5,000 PN X 5.000 =
JKEEKE R IV-VIVWNEE
FYIFLUE ¢ 50 X 5,000 N 1 IEMFREY = 1100 YIEA
FYIFLUER L
EFflI AU ¢ 50 90° & 1 0320 X 1 = 0320
(HPPE x PP)
PPYaA vk @50 & 1
PVZaf ok ¢ 50 & 3
BEER HPPE®S50 = 1.420
50 ERER  HUH SHAAR
ERART-7 W=50 m 1.4 1420 — - = 1420
BEIZENER)—D ¢ 50/ m 16 (1420 - x{50x( 1+ 01) + 5} = 1560
FEER HUF SHAAR
RS — W=150 2f§ 7AIAY | m 1.4 1420 — - = 1420
BHET—F m 0.73 1420 X 51000 + 100 = 0730
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HPPE EikEMRRI #HEBFIES

BT 0:60~0.70m NO. 2
B R
T £ BT ZE =04 F w =
FE [#ET]
RbE HPPE
FYIFLVERMAT ¢ 50 m 14, 1420 1.420
EE -3
EF#(F T 50 [m] 2 + 2 2
FYIFLVE PP PV
MZhVEF T ¢ 50 [m] 8 2 + 6 8
PERND
FYIFLYE YR T 50 =] 3 3 3
EHRT-7T ¢ 50 m 1.4
EHIRBNER)—THET ¢ 50 m 1.4 1.420 1.420
BRI W=150 2f& 7LIAY | m 14
BAKEHERT B SR B m 1.4 1.420 1.420
[+T]
TiEAs S
+I®-2 $50 H=0.80m m 0.5 05 0.50
REHLE
+I@-2 ¢ 50 H=0.60m m 0.9 0.9 0.90 |EEREREME
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HPPE ¢ 150mm Y] B &

EiE-E® [HPPE 6150 ER= 50 m/X HPPE ER= 50 m/X

No. | B&#g EE g AT Gl BE |[No. iR EE P AT b
7V-vIvh

1 1.000  3.540 0.460 0.460

2 0600 | 1.110 2260  0.980 0.050 0.050

3 0.840 | 0300 1.200  1.050 1.610 1.610

4 5.000

5 3020 | 1420  0.440 0.120 0.120

6 0360 0800 2530  0.840  0.300 0.170 0.170

7 2470 1540 0.990 0.990

8 2190 | 1.000  1.630 0.180 0.180

9 3540  1.330 0.130 0.130

10 2060  2.380 0.560 0.560

1 3000 0500 1.500 1.500

12 3.750 | 1.000 0.250 0.250
v % W R 13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

INEF 27.830 m 26.150 m EUMH 310 6.020 m INEE EYHH
1 %




HPPE ¢ 75mm Y1 B &

EIE-ERE [HPPE 075 ER= 50 m/X HPPE ¢50 FR= 50 m/&X

No. | B&#R BEE uE RARKE No. | B BEE uE RARKE

i
Bl
=l
U
i
Bl
m
U

7V-vIvh

1.780 1.500 0.900 0.820 0.820 0.500 0.300 0.300 3.900 3.900
4.550 0.350 0.100 0.100

2.730 2.180 0.090 0.090
2.570 1.130 0.670 0.630 0.630
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N =
o ©

NN
N =

NN
W

NN
(=2 RN

NN
|~

wWIN
o ©

W w
N =

w
w

w
g

INEE 11.630 m 6.730 m SO 100 1.640 m INEF 0.500 m 0.600 m BT 30 3.900 m




No. 2 _ [©) @-1 @-2 -3 @-4 ®-1 ®-2
=* - BKEHR =EE L =EE L =EE L =EE L =EE L =EE L =EE L
21.5 =R L 4.7 =R L 17.3 =R L 4.3 =R L 85. 1 =R L 2.0 =R L 0.5 =R L
3 i B & INEt R
ASEREE R )
BT T t=15cmLF m 2.00 4.00 2.00 1.00 5.00
ASTRERR )
SERBRT |[t=10cml T m2 0.60 1.20 0.60 0.30 1.50
CofA%ERR )
BT T t=15cmLF m 2.00 55.00 2.00 9.40 2.00 34. 60 2.00 8.60 2.00 170. 20 277.80
CofR%EMR )
SERBAT |[t=15cmll T m2 1.00 27.50 0.60 2.82 0.60 10. 38 0.60 2.58 0.60 51.06 94.34
BHO. 13m3 )
e ERYE T Myt m3| 0.67 18.43 0.33 1.55 0.39 6.75 0.38 1.63 0.38 32.34 0.48 0.96 0.49 0.25 61.91
BHO. 13m3 )
HBHIERT BER m3| 0.36 9.90 0.21 0.99 0.20 3.46 0.20 0.86 0.22 18.72 0.20 0.40 0.15 0.08 34.41
BHO. 13m3 )
HBHIERT HEEL m3| 0.15 4.13 0.03 0.14 0.09 1.56 0.09 0.39 0.09 7. 66 0.15 0.30 0.21 0.11 14.29
(RC-30) )
TERET t=10cm m2 1.00 27.50 0.60 2.82 0.60 10.38 0.60 2.58 0.60 51.06 0.60 1.20 0.60 0.30 95.84
(RN-30) )
FTERET t=12cm m2 0.60 1.20 0.60 0.30 1.50
18-8-40BB, A1 )
avs9y— &% [t=15cm m2 1.00 27.50 0.60 2.82 0.60 10.38 0.60 2.58 0.60 51.06 94.34
BAEZH As13mm )
BE{REIR t=3cm m2 0.60 1.20 0.60 0.30 1.50
BEMAT )
(£8) 2tDT m3| 0.50 13.75 0.30 1.41 0.29 5.02 0.28 1.20 0.28 23.83 0.31 0.62 0.26 0.13 45.96
BIMAT )
(AS) 2tDT m3 0.03 0.06 0.03 0.02 0.08
ZAE )
A S t 0.07 0.14 0.07 0.04 0.18
BIOAT )
(co) 2tDT m3| 0.10 2.75 0.06 0.28 0.06 1.04 0.06 0.26 0.06 5.1 9.44
ZAE )
CO#% t 0.24 6.60 0.14 0.66 0.14 2.42 0.14 0.60 0.14 11.91 22.19




No. 2 @1 @-2 £TA +tIB £I0
= BKEHR SEE L SEE L SEE L SEE L SEE L
232 “EEL 09 =mKL | 6/8 =@kL | 974 =@ [ 1390 =mkKL
% i3 ) ® et &t RABE
AsEHZERR ( )
ST |t=15cmU T m 5. 00 5
AsEhZE R ( )
SHERKHT  |[t=10cml T m2 1.50 2
CoffiZE i ( )
ST |t=15cmU T m 277. 80 280
CoffiZE i ( )
SHEREHT  |[t=15cmlF m2 94.34 94
BHO. 13m3 ( )
BEERET  |MEt m3|  0.44 10. 21 0.44 0.40 10. 61 72.52 70
BHO. 13m3 ( )
BEIERT  |EED m3|  0.22 5.10 0.22 0.20 0.25 16. 95 0.26 25.32 0.39 5.42 52. 99 87.40 90
BHO. 13m3 ( )
BEIERT  |%4E+ m3|  0.24 5.57 0.24 0.22 5.79 20.08 20
(RC-30) ( )
TEBEBZI  [t=10cm m2 95.84 96
(RM-30) ( )
TERET t=12cm m2 1.50 2
18-8-40BB, A 1 ( )
a5 y— R [1=15cm m2 94.34 94
BAEZH As13mm ( )
BEREIA  |t=3cm m2 1.50 2
R ( )
(+5) 2tDT m3|  0.17 3.94 0.17 0.15 4.09 50. 05 50
R ( )
(AS) 2tDT m3 0.08 0.1
ZAE ( )
AS#H t 0.18 0.2
BEiunT ( )
(co) 2tDT m3 9.44 9
ZAE ( )
co t 22.19 22.2




B s = GX $200 L= 27.5 = 27.50 m

Wiy = 4T 20— FHRE

EREEE = 0220 X 0220 X x / = 0.038

B = 0180 X 0180 X x / = 0.025

sEREE = 0170 X 0170 X x / 4 = 0.023 1m240
A 7 B A | # & i =

EECI T

Coltifl t=15cmLl T 1.00 X 2 = m 2.00

e

Coltifl t=10cmbl T 1.00 X 1.00 = m2 1.00

BT

W B 1.00 X 1.00 X 0.72 — 0.046 = m3 0.67

T

SN D AR 1.00 X 1.00 X 0.42 — 0.063 = m3 0.36

T

SN A 1.00 X 1.00 X 0.15 = m3 0.15

T T (RC-30)

t=10cm 1.00 X 1.00 = m2 1.00

o) — e (18-8-40BB, A7)

t=15cm 1.00 X 1.00 = m2 1.00

FET Ay 1 PEI . dH L

FEAS | 0.67 —( 0.15 + 0.90 )= m3 0.50

FET Ay 1

BrAA 20— 1.00 X 1.00 X 0.10 = m3 0.10

TAL

2 I)—p 0.10 X 2.35 = ¢ 0.24




WG EE = GX 200 L= 4.7 = 470 m
Wi r = A T.@-1 22 2)—PgdE
EREEE = 0220 X 0220 X x / = 0.038
BEERE = X gz  / = 0.000
Im259

A 7 H# = | # & i =
EECI T
Coltifl t=15cmLl T 1.00 X 2 = m 2.00
e
Coltifl t=10cmbl T 1.00 X 0.60 = m2 0.60
BT
b T A - FET - 1.00 X 0.60 X 0.62 — 0.038 m3 0.33
BT
SN D AR 1.00 X 0.60 X 0.42 — 0.038 m3 0.21
BT
S NFREERD T 1.00 X 0.60 X 0.05 m3 0.03
FEBEET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
o) — e (18-8-40BB, A7)
t=15cm 1.00 X 0.60 = m2 0.60
FEL T PEI . dH L
FEAS | 0.33 —( 0.03 + 0.90 )= m3 0.30
FEL T
BrAA 20— 1.00 X 0.60 X 0.10 = m3 0.06
TAL
20— 0.06 X 2.35 = ¢ 0.14




BrEES =

HPPE ¢150 L= 17.3

= 17.30

W& ot = T2 3220 —pgsE

B = 0180 X 0180 X x / = 0.025
s = 0170 X 0170 X x / = 0.023
Im259

A 7 B A | # & i =
EECI T
Coltifl t=15cmLl T 1.00 X 2 = m 2.00
IR T
CoBpHE t=10cmbl 1.00 X 0.60 = m2 0.60
BT
BB A B A 1.00 X 0.60 X 0.68 — 0.023 m3 0.39
T
SN D AR 1.00 X 0.60 X 0.38 — 0.025 m3 0.20
T
SN A 1.00 X 0.60 X 0.15 m3 0.09
FEBEET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
o) — e (18-8-40BB, A7)
t=15cm 1.00 X 0.60 = m2 0.60
FET Ay 1 PEI . dH L
FAL A4 0.39 —( 0.09 + 0.90 )= m3 0.29
FET Ay 1
BrAA 20— 1.00 X 0.60 X 0.10 = m3 0.06
TAL
2 I)—p 0.06 X 2.35 = ¢ 0.14




BrEES =

GX ¢ 150 L=

4.3

= 4.30

W& ot = 1 T.2-3 320 —pgkE

EREEE = 0170 X 0170 X x / = 0.023
BEERE = X X gz  / = 0.000
Im259

A 7 B A | # & i =
EECI T
Coltifl t=15cmLl T 1.00 X 2 = m 2.00
e
Coltifl t=10cmbl T 1.00 X 0.60 = m2 0.60
BT
b T A - FET - 1.00 X 0.60 X 0.67 — 0.023 m3 0.38
T
SN D AR 1.00 X 0.60 X 0.37 — 0.023 m3 0.20
T
S NFREERD T 1.00 X 0.60 X 0.15 m3 0.09
FEBEET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
o) — e (18-8-40BB, A7)
t=15cm 1.00 X 0.60 = m2 0.60
FET Ay 1 PEI . dH L
FEAS | 0.38 —( 0.09 + 0.90 )= m3 0.28
FET Ay 1
BrAA 20— 1.00 X 0.60 X 0.10 = m3 0.06
TAL
20— 0.06 X 2.35 = ¢ 0.14




Mg E = HPPE $75 L= 85.1 = 85.10
Wi r = 4T Q-4 222 —PagdE
B = 0090 X 0090 X x / = 0.006
s = 0170 X 0170 X x / = 0.023
Im259

A 7 B A | # & i =
EECI T
Coltifl t=15cmLl T 1.00 X 2 = m 2.00
IR T
CoBpHE t=10cmbl 1.00 X 0.60 = m2 0.60
BT
BB A B A 1.00 X 0.60 X 0.67 — 0.023 m3 0.38
T
SN D AR 1.00 X 0.60 X 0.37 — 0.006 m3 0.22
T
SN A 1.00 X 0.60 X 0.15 m3 0.09
FEBEET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
o) — e (18-8-40BB, A7)
t=15cm 1.00 X 0.60 = m2 0.60
FET Ay 1 PEI . dH L
FAL A4 0.38 —( 0.09 + 0.90 )= m3 0.28
FET Ay 1
BrAA 20— 1.00 X 0.60 X 0.10 = m3 0.06
TAL
2 I)—p 0.06 X 2.35 = ¢ 0.14




Mg E = HPPE $150 L= 2.0 = 200 m
Briars B = 1 1.3-1 ifrEAs
B = 0180 X 0180 X x / = 0.025
s = 0170 X 0170 X x / = 0.023
Im259

A 7 B A | # & i =
EECI T
AsEBEEIR t=15cmI T 1.00 X 2 = m 2.00
IR T
AsEBEEIR t=10cmbl T 1.00 X 0.60 = m2 0.60
BT
BB A B A 1.00 X 0.60 X 0.83 — 0.023 = m3 0.48
T
SN D AR 1.00 X 0.60 X 0.38 — 0.025 = m3 0.20
T
SN A 1.00 X 0.60 X 0.25 = m3 0.15
FEBEET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
ST (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
YRR AR 1A (F2E % RiAs 3, A7)
t=3cm 1.00 X 0.60 = m2 0.60
FET Ay 1 I+ dH L
FAL A4 0.48 —( 0.15 = 0.90 )= m3 0.31
FETA Ty 1
FrAZ TAT b 1.00 X 0.60 X 0.05 = m3 0.03
TAL
TR 7N 0.03 X 2.35 = ¢ 0.07




Mg E = HPPE 450 L= 0.5 = 0.50
Brigrs B = 1 1.3-2 ifiEAs
B = 0060 X 0060 X x J = 0.003
BEERE = X X gz  / = 0.000
Im259

A 7 B A | # & i =
EECI T
AsEBEEIR t=15cmI T 1.00 X 2 = m 2.00
IR T
AsEBEEIR t=10cmbl T 1.00 X 0.60 = m2 0.60
BT
BB A B A 1.00 X 0.60 X 0.81 m3 0.49
T
SN D AR 1.00 X 0.60 X 0.26 — 0.003 m3 0.15
T
SN A 1.00 X 0.60 X 0.35 m3 0.21
FEBEET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
ST (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
YRR AR 1A (F2E % RiAs 3, A7)
t=3cm 1.00 X 0.60 = m2 0.60
FET Ay 1 I+ dH L
FAL A4 0.49 —( 0.21 = 0.90 )= m3 0.26
FETA Ty 1
FrAZ TAT b 1.00 X 0.60 X 0.05 = m3 0.03
TAL
TR 7N 0.03 X 2.35 = ¢ 0.07




B 5 = GX 200 L= 67.8 = 67.80 m

Wi b = £ TA 32 2V— g%

EREEE = 0220 X 0220 X x / = 0.038
B = 0180 X 0180 X x / = 0.025
Y
% 7 H# = | # & i =
ATEEGI T
CofHZE t=15cmid T 1.00 X 2 = m
e
CoBFLEER t=10cmLL T 1.00 X 090 = m2
3 AN
WP A - FEET - 1.00 X 0.90 X — = m3
BT
SN AR 1.00 X 0.90 X 0.35 — 0.063 = m3 0.25
7)) — %L (18-8-40BB, A 77)
t=15cm 1.00 X 0.90 = m2
LG T e+ WAL
FAA | 0.00 —( -+ 0.90 )= m3
Fe AT
FFiAH 2 0)—pEE 1.000 X 0.90 X 0.10 = m3
ZAL

200 —pik 0.00 X 2.35 = ¢




Wik 5 = HPPE $75 L= 252 23.20 m
Brars By = AL @-1 R
BRI = 0090 X 009 X x / 4 = 0.006
s = 0170 X 0170 X x / = 0.023
Y
A 7 B A | # & i =
BT
BB B A 1.00 X 0.60 X 0.77 — 0.023 = m3 0.44
T
SN D AR 1.00 X 0.60 X 0.37 — 0.006 = m3 0.22
T
SN A 1.00 X 0.60 X 0.40 = m3 0.24
FETA Gy 1 HEI . dH L

FAAL L2 044 —(0.24 + 0.90 )= m3 0.17




BrEES =

HPPE 50 L= 0.9

= 0.90

Wit = 1L @-2 KGR

B = 0060 X 0060 X x J = 0.003
s = 0170 X 0170 X x / = 0.023
Im259
#% 7 B A | # & g =
BT
BB B A 1.00 X 0.60 X 0.77 — 0.023 m3 0.44
T
SN D AR 1.00 X 0.60 X 0.37 — 0.003 m3 0.22
T
SN A 1.00 X 0.60 X 0.40 m3 0.24
FETA Gy 1 HEI . dH L
FAL A4 0.44 —( 0.24 = 0.90 )= m3 0.17




W5 = HPPE ¢ 150 L= 97.4 = 9740 m

W& ok = 4 T.B 32 —PagsE

EREE = 0180 X 0180 X x / = 0.025
BEERE = X X z  / = 0.000
Im259
% 7 H# = | # & i =
BHREGI T
CofHZE t=15cmid T 1.00 X 2 = m
BHREIRERE T
CoBFLEER t=10cmLL T 1.00 X 0.80 = m2
T
WP A - FEET - 1.00 X 0.80 X — = m3
MR
NI AR 1.00 X 0.80 X 0.35 — 0.025 = m3 0.26
z 7Y — % (18-8-40BB, A 77)
t=15cm 1.00 X 0.80 = m2
TG T e+ WAL
PRSP 0.00 —( =~ 0.90 )= m3
FEAL 5T
FERS 20— pi 1.00 X 0.80 X 0.10 = m3
ZAL

200 —pik 0.00 X 2.35 = ¢




WS = HPPE ¢ 150 L= 13.9 = 1390 m
BrimEF = 1 TC a2 —paiE
B = X X gz / = 0,000
EHE = X X z  / = 0.000
Im259
% 7 H# = | # & i =
BHAEGI T
CofHZE t=15cmid T 1.00 X 2 = m
BHLERR AR T
Codlidel t=10cml{ T 1.00 X 1.10 = m2
AL
WP A - FEET - 1.00 X 1.10 X — = m3
PR
S NFTIESD AR 1.00 X 1.10 X 0.35 = m3 0.39
z 7Y — % (18-8-40BB, A 77)
t=15cm 1.00 X 1.10 = m2
LT e+ WAL
PRSP 0.00 —( +~ 0.90 )= m3
FEAL 5T
FEAS T I)—F 1.00 X 1.10 X 0.10 = mS3
ZAL
200 —pik 0.00 X 2.35 = ¢




No. 2 Gx200 GX150 HPPE150 HPPE75 HPPE50
=* - BKEHR =EE L =EE L =EE L =EE L =EE L =EE L =EE L
100.0 =R L 4.3 =R L 130.6 =R L 108.3 =R L 1.4 =R L =R L =R L
3 i B & INEt R
ASEREE R ( )
EELia t=15cmLF m 4.00 1.00 5.00
ASTRERR ( )
SEMRWEBT |t=10cmU T m2 1.20 0.30 1.50
CofA%ERR ( )
EELia t=15cmLF m 64. 40 8.60 34. 60 170. 20 277.80
CofR%EMR ( )
SERBAT |[t=15cmll T m2 30.32 2.58 10. 38 51.06 94.34
BHO. 13m3 ( )
e ERYE T Myt m3 19.98 1.63 1.1 42.55 0.65 72.52
BHO. 13m3 ( )
HBHIERT BER m3 27.84 0.86 34. 60 23.82 0.28 87.40
BHO. 13m3 ( )
HBHIERT HEEL m3 4.21 0.39 1.86 13.23 0.33 20.08
(RC-30) ( )
TERET t=10cm m2 30.32 2.58 11.58 51.06 0.30 95.84
(RN-30) ( )
FTERET t=12cm m2 1.20 0.30 1.50
18-8-40BB, A1 ( )
av4 Y — b [t=15cm m2 30.32 2.58 10. 38 51.06 94.34
BAEZH As13mm ( )
BE{REIR t=3cm m2 1.20 0.30 1.50
BEMAT ( )
(£8) 2tDT m3 15.16 1.20 5. 64 27.71 0.28 50.05
BIMAT ( )
(AS) 2tDT m3 0.06 0.02 0.08
ZAE ( )
A S t 0.14 0.04 0.18
BIOAT ( )
(co) 2tDT m3 3.03 0.26 1.04 5.1 9.44
ZAE ( )
CO#% t 7.26 0.60 2.42 11.91 22.19




5. VHARERE L HER



SENRRET #H=E
ERE-OF ARG TN=1)
....... ®75mm_TEFT
ExEH: £4Y :0.60m NO, 3
B
TiE £ BRI H % & 1w _Z
#H#
GF 7.5K L
PERELOM IS SHETEE d75% 75 & 1 0710 x 0.710
FIFLYEA
EFYryb ¢ 75 & 1
BnO-75K
A e P S o75-NsrEA | E 1
FCD& L —= RS E A GF 7.5K
- EBEE ¢ 75 X 150H = 1
¢ 75-7.5K
TS HFEM GFh Ar9hsUS304-BN | H8 1
¢ 75-7.5K
2500 AN ATyb #H 1
wiEsA
ISV FImREE 75 #H 1
KR ANE & 1
HAKRER L#RBE H=200
LY UiR'vyR & 1
KR e H=100
LY UiR'v9R & 1
KR T&RBE H=200
LY UiR'v9R & 1
KR JEER (Ff2) H=40
LY UiR'v9R & 1

-1/1-




SENRRET HEFHEE
ERE-OF ARG TN=1)
....... ®75mm_TEFT
ExEH: £4Y :0.60m NO, 3
B
TiE £ BRI H % & 1w _Z
FE [E#T]
B0 SH kg
HARRERET 75 E170 1 1
O#=F) 2o
EFftF T @75 &1z 1 1
159y SHi
IV RFET ¢ 75 7.5K A 1 2 - 1
HAERSSEMT & 1
HAKRER L#RBE H=200
LY Uk v 2B+ T & 1
KRR e H=100
LY Uk v 2B+ T & 1
KRR T&RBE H=200
LY Uk v 2B+ T & 1
KRR JEER (Ff2) H=40
LY Uk v 2B+ T & 1

-1/1-




6. ¢ 150X ¢25~ 20, ¢ 75X ¢ 20, ¢ 50X ¢ 20
K E RS
A% HPPE ¢ 50~ ¢ 150



fokEMmRT HSHES

@ 50mm X PP ¢ 20mm_18&iAT

NO., 4
EHRA
T £ FBHTE Hly % 8 # =
HH#
HPPEF
YL IAF 5 KEg $150 % ¢ 25 = 1 1 4471 1 = 1
HPPEF 47D 3 MT@-2 4
YL IAF 5 KEg $150 % ¢ 20 = 11 1 471 4 = 11
HPPER 7D 1
YL AF 5 KEg d75% ¢20 = 6 6 447°@-1 5 = 6
HPPEF
YT 5 KEg ®50 % ¢ 20 = 1 1 471 1 = 1
$20,¢25
KR IR FCD =R #H 15 1 + 14 = 15
HE [#B+T]
HPPEF
HIKRETAHT G150 % ¢ 25 [E:17 1
HPPEF
HIKRETAHT $150 % ¢ 20 [E:17 11
HPPEF
HIKBRETAHT d75% 20 [E:17 6
HPPEF
HIKBRETAHT ¢ 50 ¢ 20 [E:17 1
MI 247°@-1 HRERETY
K EERT PP ¢ 25 &R 1 1.8 1.8m
MIf 47D HMT@-1  847@-2 HRERETY
K EERT PP ¢ 20 [l 14 83 + 95 + 34 1.5m
MI 417@-2 HRERETY
K EERT PP ¢ 20 &R 4 34 0.9m
[£T1)
PP® 25
+ID-1 Co H=0.50m m 9.7
PP® 25
+I®-2 Co H=0.10m m 1.2
PP 25
+I® KEHE H=050m | m 1.3

-1/1-




No. 6 _ _ D1 #@KE | 2  #KE @ BKE
ARHEAKEFHR “EE L SR L SR L
9.7 “EEL 11.2 “EEL 1.3 “EEL
2 W B & E R HE |
CoRE R )
SEYMT t=15cmA F m 2.00 19. 40 2.00 22.40 41.80 42
ComiE R )
SRR T [t=10cm T m2 0.50 4.85 0.30 3.36 8.21 8
BHO. 08m3 )
HEMRERYE T ME+ m3 0.22 2.13 0.01 0.11 0.27 0.35 2.59 3
BHO. 08m3 )
HHIBERET HAE m3 0.14 1.36 0.01 0.11 0.11 0.14 1.61 2
BHO. 08m3 )
HHIBERET HAET m3 0.15 0.20 0.20 0.2
(RC-30) )
TERET t=10cm m2 0.50 4.85 4.85 5
18-8-40BB, A /1 )
a4 ) — k& |[t=15cm m2 0.50 4.85 4.85 5
18-8-40BB, A /1 )
a4 ) — k& [t=10cm m2 0.30 3.36 3.36 3
BILAT )
(L) 2tDT m3 0.22 2.13 0.01 0.11 0.10 0.13 2.37 2
BIMAT )
(co) 2tDT m3 0.05 0.49 0.03 0.34 0.83 0.8
ZAE )
CO®% t 0.12 1.16 0.07 0.78 1.94 1.9




Wi s = PP _FaKE 25U F L= 9.7
HrEE = 4 Ld-1
BB = 0030 X 0030 X r = 0.001
B g = X X = 0.000
Im2%9

% B i & = o & i
BRI T
CodHElk t=15cmEL 1.00 X 2 m 2.00
BHRERRAR AR T
CoBH2EMR t=10cmid 1.00 X 0.50 m2 0.50
1 BHO.08m3
Wb A FEE £ 1.00 X 0.50 0.43 m3 0.22
i T- BHO.08m3
ZNFEED AR 1.00 X 0.50 0.28 — 0.001 m3 0.14
T T (RC-30)
t=10cm 1.00 X 0.50 m2 0.50
a7V — Ml (18-8-40BB, A1)
t=15cm 1.00 X 0.50 m2 0.50
FELAG T 2DT EILE WA
FEAA 1+ 0.22 —( = 0.90 )= m3 0.22
FELH T 2tDT
FEAA 20—} 1.00 X 0.50 0.10 = m3 0.05
RAE
L)} 0.05 X 2.35 ¢ 0.12




B Es = PP #KE g 250 F L= 11.2
Brigis# = 102
BB = 0030 X 0030 X r = 0.001
EHE = X X = 0.000
Im2%9

% B i & = o & i
BRI T
CodHElk t=15cmEL 1.00 X 2 m 2.00
LSRR 1
CodlEm t=10cml 1.00 X 0.30 m2 0.30
A T BHO.08m3
BRI A BEE - 1.00 X 0.30 0.03 m3 0.01
HIE T BHO.08m3
L NFEEGD AR 1.00 X 0.30 0.03 — 0.001 m3 0.01
7)) — M4 (18-8-40BB. A7)
t=10cm 1.00 X 0.30 m2 0.30
AT 2tDT EE+ WALt
AL | 0.01 —( - 0.90 )= m3 0.01
ST 2tDT
FFiAZL 20— p 1.00 X 0.30 0.10 = m3 0.03
RAE
a3 0.03 X 2.35 ¢ 0.07




Wrg s = PP #KE g 25LLF L= 1.3
HrEEE = 1L

EHE S = 0030 X 0030 X x J/ 4 = 0001
EHE = X X z /4 = 0.000
Im2%9
% B i & = o & W =
A T BHO.08m3
W A BEE 1.00 X 0.50 X 0.53 = m3 0.27
HIE T BHO.08m3
L NFEIESD AR 1.00 X 0.50 X 0.23 — 0.001 = m3 0.11
HIEE T BHO.08m3
L NFEEYD FEAEA- 1.00 X 0.50 X 0.30 = m3 0.15
AT 2tDT EE+ WALt

HAB L 0.27 —( 0.15 =+ 0.90 )= m3 0.10
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EiE- 0% BEERER K B ZEDIP ¢ 200mm 1=352.2m

BX5EDIP & 150mm, ¢ 200mmEckKERELT HEFTES

BE S5 B /K & 1= DIP ¢ 150mm L=303.8m

st HReSLY £#5Y:0.80~1.10m NO. 5
B 1R
T £ _# BRKTZE Bl % 8 F =
FE
BEE BEER
HHRERET ¢ 200 m 25 2.50 = 2500
BEE VY Uhyh— BEE%
HSERET ¢ 200 m| 1 250 + 3 = 0.833
BEE BEER 97.50 7200 + 430 + 21430
HSERET ¢ 150 m 5285/ + 1220 + 107.70 20.50 = 528.500
BEE VY Uhys— BEE%
BHHERET ¢ 150 m| 176 52850 + 3 = 176
¢ 200 kg/m ¢ 150 kg/m kg
29597 FHa4 8% t 15.5 25 X 3840 5285 X  29.20 = 15,5530
[£1]
Cof%
+IT®-1 B &% ¢ 150 H=0.50m m 228 22.80 = 2280
KREpE
+ITO-1 BESR &% ¢ 150 H=0.60m mM 20.0 20.00 = 20.00

-1/1-




No. 2 ®-1 @1
EIREMZE SEE L “EE L
228 =R L | 200 =@EE L

E4 i 3] & it BETRE
Cofh%E R )

SHEYIMIT  |t=15ecmU T m| 200 4560 45. 60 46
CofRZERR )

SEREREFE T |t=15cmA T m2| 0.60 13.68 13. 68 14
BHO. 13m3 )

BWEET  |ME+ m3| 0.33 7.52 | 0.45 9.00 16.52 20
BHO. 13m3 )

BHEET g4t m3| 0.25 570 | 0.46 9.20 14.90 10
(RC-30) )

TEHEBZET  [=10cm m2| 0.60 13.68 13.68 14
18-8-40BB, A 71 )

29 y— b |t=15cm m2| 0.60 13.68 13.68 14
BRIMST )
(+8) 2t0T m3| 0.05 1.14 | 0.06 1.20 0.06 0.1
BEIMST )
(co) 2t0T m3| 0.06 1.37 1.37 1
FAE )
coz t| 0.14 3.19 3.19 3.2




g5 = DIP ¢ 150 L= 22.80 = 2280 m
Wrgrg ot = AT 8)—-1 32 —PEsE
EREEE = 0170 X 0170 X x / = 0.023
BEERE = X X gz  / = 0.000
Im259

% 7 H# = | # & i =
EECI T
Coltifl t=15cmLl T 1.00 X 2 = m 2.00
e
Coltifl t=10cmbl T 1.00 X 0.60 = m2 0.60
BT
b T A - FET - 1.00 X 0.60 X 0.57 — 0.023 m3 0.33
BT
S NFEERD T 1.00 X 0.60 X 0.42 m3 0.25
FEBAET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
o) — ek (18-8-40BB, A7)
t=15¢cm 1.00 X 0.60 = m2 0.60
FEL T mE+ WAL
FEAS | 0.33 —( 0.25 + 0.90 )= m3 0.05
FEL T
FERE 2~ 1.00 X 0.60 X 0.10 = m3 0.06
TAE
20— 0.06 X 2.35 = ¢ 0.14




lﬂ‘%ﬁ?ﬁ? = DIP ¢ 150 L= 20.00 = 20.00
B 7 = 1 T.O-1 FhhE
B = 0170 X 0170 X x / = 0.023
BEERE = X X gz  / = 0.000
Im259
#% 7 B A | # & g =
BT
BB B A 1.00 X 0.60 X 0.77 — 0.023 m3 0.45
T
LN A 1.00 X 0.60 X 0.77 m3 0.46
FET ATy 1 PEI . dH L
FAL A4 0.45 —( 0.46 = 0.90 )= m3 -0.06




SEEET

T T HIRS Tk 7 B = ¥ & | HAL
EiEEEIR T AR IH 1.0] &
AEEE IR XD

T AT 7 IV A —H) KT

ES] N t=15cmEd T 11.30 = 11.30 11| m
DCESEE-Z 5 A B AR 1H A

SRR B T.(As) BHO0.13m3 t=5cm 13.94-6.63 = 731 m?2
A AR - HE 1
BHO0.13m3 t=3cm 6.63 = 6.63 m2

= 13.94 14| m2

I EREEED

FAR = BHO0.13m3 #E +

B A S T A AR EHEEE

Il 6.63 X ( 0.056 — 0.03 ) = 0.1 0.1 m3

EiEEEIR T AEIH

F=E T HAERIETA2(20)  |&HEEE B YEmXELD

T8 HE t=5cm 13.94 = 13.94 14| m2

AR IR a7l 13.94 = 13.94 14| m2
B EE Sy B EE LIy

ety T BH0.13m3-DT2t 0.1 = 0.1 0.1 m3
T AT 7V

FRALSY T BH0.13m3-DT2t 7.31X0.05+6.63 X 0.03 = 0.6 1| m3
T AT 7V Rk

RSy B = NEHES A 0.6X2.35 = 1.4 14| t
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